SN AFERE
H 5
PIBWEE

ik G S

TS S A K X R (—14m) SEREIER (TR

oo o 5 B W R
MooF7 W B F B BT

541 H



BiEx IERE LA R (14mFHSITEE (ZR)

% # s - BRHE By ¥ B i & & HE
EEREE 1,686, 464
HRE 1,686,464 x 80.0% — 5, 635 1,343,536
REERE 1,686,464 + 1,343,536 3,030, 000
BRI 1,025,861 + 5,900 1,031, 761
EEAGE 1,025, 861
EERE 5,900
T O R 1,025,861 x 53.85% (36% + (1 — 35%) ) 552,426
EHRIE 1,031,761 + 552,426 1,584,187
—REBRES 1,584,187 x 53.85% (35% ~ (1 — 35%) ) — 7,271 845,813
BHES: - 1,584,187 + 845,813 2, 430, 000
KBS 3,030,000 + 2, 430, 000 5, 460, 000
B EET 5,460,000 x 10.00% 546, 000
HSEEXE (IR & 5,460,000 + 546, 000 6, 006, 000




BEARRE B8 B 5 TS A X 2 B (— 1 am) SR SRS (2 R)

£ g B - KT Bifg B B2 B &= £ =
HiEREE 2,718,225
HSIFEER 2,718,225
WSIFEER 2,718,225
HSiFE 2,712,325
REERE 904, 589
1 BE%ME 1.00 509, 434 509, 434
=
2 HBMIERM 2FEERRAY) 1.00 395, 155 395, 155
=
WSEE 1,707,129
3 HEfE - B 1.00 1,522, 866 1,522, 866
A
4 HREFEE (AmAR) 2.30 25,679 59, 061
km
5 BKIFE (FAR) 4.40 28, 455 125, 202
km
R 100, 607
6 BRI 3.30 30, 487 100, 607
km
EEEE 5,900
R 5,900
1 EBRERE® 1.00 5, 900 5,900
=
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&5 1
B FEERE IEED
£ b3 B - BIKTE =-Fiv] = fili ® 5 W E w =
F{EHRAm GRED
A 2.50 58, 600. 00 146, 500
HEm (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 2.00 41, 600. 00 83, 200
pili=g5 31
A 2.00 42, 200. 00 84,400
I E H A
A 2.00 32, 400. 00 64, 800
HAH 2{R0Y%
% 0.50 506, 900. 00 2,534
& B 1EZRERN  1.00K 509, 434. 00 509, 434
52
£ BAERR QEFEESZY) IEED
% b R - KT BT 2 i * % W E H %
HIEWHENE
A 4.00 25, 400. 00 101, 600
cSwo 11t5&
H 5.00 42, 318.00 211,590(4. 70H / 8H
STFL—2hL—r A AR ER) GhEfRfE > I8 25t R
H 2.00 40, 000. 00 80, 000|8H
MR 2{Rn%
% 0.50 393, 190. 00 1,965
& it 1E%8ESN : 1.00=C 395, 155. 00 395, 155
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5 :3
B BN - EED)
# # R - kT B % B G & # #E =
XiE® S bNT 2
=] 4.00 3,270.00 13,080/2. 00H / 8H
HEEEmES BSEESAEEIA L. BiEs. cie
=] 2.00 23,925. 00 47, 850
5 fin $MD 200PSZEY
=] 1.00 174, 189. 00 174,189|6.00H / 8H
mELH FRP
=] 3.00 58, 410. 00 175, 230|8H
e TICHY)
A 3.00 58, 600. 00 175, 800
BER (A)
A 4.50 51, 200. 00 230, 400
e (B)
A 3.50 41, 600. 00 145, 600
I R ER
A 2.00 42, 200. 00 84, 400
HEREAR
A 2.00 32, 400. 00 64, 800
MEBF
A 6. 00 31, 100. 00 186, 600
HEHDE
A 6. 00 25, 400. 00 152, 400
HHH E3 Y00
% 5.00 1, 450, 349. 00 12,517
a & 1EXBES - 1. 0048 1,522, 866. 00 1,522, 866
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BS54
& MREE (@A) 1B4Y (24.6km)
# # R - kT B % B fi & # #E =
XiE® S bNT 2
=] 1.00 3,270.00 3,270/2.00H / 8H
5 fin $MD 200PSZEY
=] 1.00 174, 189. 00 174,189|6.00H / 8H
mELH FRP
=] 1.00 58, 410. 00 58, 410/8H
HEEEmES BSEESAEEIA L. BiEs. cie
=] 1.00 23,925. 00 23,925
GNSSRI G E DGNSS
=] 1.00 25,575.00 25,575
EEA T 1AM 100kHz
=] 1.00 9, 256. 50 9, 256
e TICHY)
A 1.00 58, 600. 00 58, 600
®Em (A)
A 1.00 51, 200. 00 51, 200
®Em (B)
A 1.00 41, 600. 00 41, 600
I R ER
A 2.00 42, 200. 00 84, 400
HEREAR
A 1.00 32, 400. 00 32, 400
MEBF
A 1.00 31, 100. 00 31,100
HEHDE
A 1.00 25, 400. 00 25, 400
HHH E3 Y00
% 2.00 619, 325. 00 12, 386
a & EEBEN 1 24.60km 25, 679. 00 631, 711
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EH5:5
B MREE (HAMA) 1B4Y (22.2km)
# # R - kT B % B fi & # #E =
XiE® S bNT 2
=] 1.00 3,270.00 3,270/2.00H / 8H
5 fin $MD 200PSZEY
=] 1.00 174, 189. 00 174,189|6.00H / 8H
mELH FRP
=] 1.00 58, 410. 00 58, 410/8H
HEEEmES BSEESAEEIA L. BiEs. cie
=] 1.00 23,925. 00 23,925
GNSSRI G E DGNSS
=] 1.00 25,575.00 25,575
EEA T 1AM 100kHz
=] 1.00 9, 256. 50 9, 256
e TICHY)
A 1.00 58, 600. 00 58, 600
®Em (A)
A 1.00 51, 200. 00 51, 200
®Em (B)
A 1.00 41, 600. 00 41, 600
I R ER
A 2.00 42, 200. 00 84, 400
HEREAR
A 1.00 32, 400. 00 32, 400
MEBF
A 1.00 31, 100. 00 31,100
HEHDE
A 1.00 25, 400. 00 25, 400
HHH E3 Y00
% 2.00 619, 325. 00 12, 386
a & EEBEN 1 22.20km 28, 455. 00 631, 711
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ES5:6
B . EREN 100km=Y
£ b3 B - BIKTE =-Fiv] = B i ® 5 w =
F{EHRAm GRED
A 12.00 58, 600. 00 703, 200
HEm (A)
A 16. 00 51, 200. 00 819, 200
HEm (B)
A 16. 00 41, 600. 00 665, 600
pili=g5 31
A 8.00 42, 200. 00 337, 600
I E H A
A 8.00 32, 400. 00 259, 200
RIZBF
A 8.00 31,100. 00 248, 800
HAH 2{R0Y%
% 0.50 3,033, 600. 00 15,168
& B EZEEH : 100.00k m 30, 487. 00 3,048, 768
E5:7
&% EBHER IEED
% b R - KT BT B = B O{f ® £ H %
EBHRERERE
= 1.00 5,900. 00 5,900
& it 1E%8ERH : 1.00=C 5, 900. 00 5,900




